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COMPANIES

I. Many companies have lost the art of planning a strategy. They spend too much time looking at process change, organisation and systems. They do not spend sufficient time in deciding where they want to be in their markets and how they are going to 1.______________ their competitors. On the contrary, they have things unbalanced because their development of a strategy is in crisis.

II. Recently, in an article which commented the results of a survey, showed that only six per cent of executives rated their company highly for long term planning skills. Another survey estimated that only one in ten companies had the information they needed to make strategic decisions. If this figure is correct, it is not surprising that 29% of the FTSE 100 companies failed to achieve real sales 2._________between 1992 and 1996, when take-overs were excluded from the figures.
III. There is no doubt about the value of effective strategy planning. A recent research has shown that what are described as ‘visionary’ companies, those with clear strategies for the future, deliver higher shareholder dividends. Such companies are less at risk from 3.__________earning pressures because they know, and they can convince others, that they will survive such situations in the long run. 

IV. In the past, it was generally believed that the scale of a company was the most significant factor. Times have changed. Today a big company is not being defeated by another big company but by a small one. So how do the small ones succeed in doing this? And what do companies that are failing do? If a company accepts that its strategy is not sufficiently developed, and that it needs to plan better its future, and that it should shape its market instead of being shaped by it, what should it do?

V. John Field’s latest book on strategy management presents a new approach to help companies rediscover the power of planning their future. The approach put forward is based on two important ideas, the first being that any company considering its future must have a commitment to win. If this message is clearly understood, competitors will go elsewhere, believing that the market will be taken over by the other company. The second main idea is competitive advantage. The author defines four prime areas that differentiate organisations and influence purchase decisions. There are ‘the performance of the product or service, sold at the most attractive price, with extraordinary levels of service and strong emotional values’. It may require only one of these areas to produce a competitive advantage. Take Coca Cola for example. Through its brand name, the company has established a relationship with customers’ feelings that has made the 4._________highly successful. Companies can explore how to win by building on their commitment and working around this approach to identify which one or more of these four sources of advantage will lead to success.    

Vocabulary: Choose the best word from the 4 options for each gap in the text by filling in the corresponding letter in the boxes on the Answer Sheet
1.
A. break
B. beat


C. hit

D. slap

2. 
A. wages
B. intakes

C. earnings
D. salaries

3. 
A. long

B. short-term

C. late

D. long-term
4. 
A. result
B. produce

C. object
D. product

Reading comprehension

Choose the correct option to each question by inserting the corresponding letters on the Answer Sheet

1. The main idea of the article is:

A) companies need to create emotional attachment to a brand name

B) companies need to plan their marketing strategies effectively to dominate the market.

C) a company’s correct strategic decision can gain shareholders higher dividends.

D) big companies today are being defeated by small companies.

2. Is it true, in paragraph II, that 

A) most companies have abundant information on the basis of which to decide their future.

B) only a small number of managers judged the planning ability of their company positively.

C) between 1992 and 1996, 29% of the companies were taken over.

D) most executives think highly about their company.

3. In paragraph III, is it true that





 



A) shareholders gain most when they invest in companies with clear market strategies.

B) shareholders always have a clear vision of the strategies required for a company to win competition.

C) shareholders rarely receive high dividends even if they invest in companies with clear market strategies.

D) clear strategy planning does not ever save a company from bankruptcy.

4. According to the writer in paragraph IV
A) times never change.

B) big companies are always defeated by bigger companies.

C) the scale of a company is still a crucial factor.

D) big companies are often defeated by small companies.

5. In paragraph V, the sentence “…companies can explore how to win…” indicates

A) a certainty.

B) an obligation.

C) a possibility.

D) an exemplification.
6. In paragraph V, is it true that Coke has a competitive advantage because

A) it has established emotional feelings with its customers thanks to its brand name.

B) it sells its products only in supermarket.,

C) it always sells at an extremely low price.

D) it has established emotional feelings with its customers thanks to its efficient customer service.

LISTENING COMPREHENSION:  (A radio interview with Richard Wood, the founder of Bookstore, a company that sells books on the internet).

1.   When did Richard work for an investment company?


A. in 1984


B. in 1995


C. in 1994

2.
Richard Wood started the internet company, Bookstore, because he felt

A.
he was earning very little in his job.

B.
he was getting dissatisfied with what he was doing.

C.
he had to respond to a challenging business opportunity.

3.
According to Richard Wood, what has been an important element in Bookstore’s success?

A.
attracting good personnel.

B.
the many new ideas that were generated.

C.
his knowledge of computer software.

      4. What was the initial sales revenue at the beginning of the year?

      A. $ 340.000.000

      B. $ 120.000.000

            C. $ 230.000.000

5.
Bookstore’s profits are low because of 

A.
money spent on promotion.

B.
fluctuations in the stock market.

C.
changes in the management structure.

6.
Bookstore can perform better than its competitors because 

A.
its distribution network is more efficient.

B.
it has a wider share of the international market.

C.
its staff have a personal investment in the company.
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TELECOMMUNICATION SYSTEMS AND COMPANY IMAGE
I. Companies spend large sums of money on their telephone systems but then use them insufficiently and so create the wrong image, according to Dave Davidson, International Performance Manager at a company called Orange. He claims that many companies usually take 17 seconds to answer incoming calls. Some can take as long as 24 seconds to answer the phone. ‘At one time you had to dial the number and wait for the exchange or an operator to connect you. You were aware that it was probably going to take time and if no-one picked up the phone you would probably hang on for 20 rings’, he says. ‘Now you punch in the numbers and the phone rings at the other end almost before you have finished. You expect an equally quick response. Unless it is vital to get through, you are rarely prepared to wait as long as 24 seconds. In fact the 1. ___________ response time should be five to ten seconds’.

II. Telephonists are one of the main interfaces with the public and customers. They give the first impression of the company and by definition get only one chance to make a first impression. The facilities manager should know the fastest response time to the telephone, the slowest response time and the most frequent response time. Mr Davidson points to a television advertisement by a leading bank that promised an answer within four rings. This was a simple 2. ______that created a new performance measure. ‘Banks are trying to promote themselves as service providers and this advertisement gave a very powerful image’, says M Davidson. 

III. Orange estimates that telecommunications is the most expensive support service in offices, costing about £1,000 per 3. ______each year. It is second only to wages within the average company budget. Given the changes over the past ten years, the cost of communicating is likely to continue to 4. ______. In 1986, the typical office worker had just a simple push-button, or even dialling, phone. Now the traditional desk-based telephone also has voice mail and direct dialling and the staff member relies increasingly on email, video-conferencing, on-line business services and mobile phones. Mr Davidson says, ‘Such is the importance of all this to regions and economies generally that cities are increasingly looking on communications as the key infrastructure issue. Atlanta, for example, used the Olympic games as an opportunity to become one of the best places in the world for multimedia communications. They are becoming as important, if not more, than physical communications.

IV. Telephony can sometimes get too sophisticated, though. Some American companies, for example, are refusing to install automatic answering systems that tell callers to dial extension numbers. In many cases these are left on all day and the caller is passed automatically from one office to another. This gives the opposite impression to the one that companies would like to project.         

Vocabulary

Choose the best word from the 4 options for each gap in the text by filling in the corresponding letter in the boxes on the Answer Sheet
1.
A. even 

B. average
C. limited
D. medium
2. 
A. strategy
B. planning
C. skill

D. ability
3.
A. staff

B. employer
C. employee
D. boss
4. 
A. grow up
B. rise

C. raise

D. arise
Reading comprehension

Choose the correct option to each question by inserting the corresponding letters in the boxes on the Answer Sheet

1. The main idea of the text is that

A) high investment in telephony does not always  provide a positive company image.

B) high investment in telephony always provides  a positive company image.

C) investment in automatic answering systems assure companies an image of efficiency. 

D) Phone callers are willing to wait quite long for a response. 
2. In paragraph I, it is true that

A) as in the past, customers are ready to wait long for an answer to their call.
B) nowadays phone calls are too fast. 

C) nowadays customers expect a fast answer to their call. 

D) phone call answers are always within 5-7 seconds.

3. In paragraph II, a facilities manager should




A) control some of the response time to calls that can damage the company’s image.
B) only control the slowest response time to calls. 

C) control all the response time to calls to improve the company’s impression on customers. 

D) provide information to customers.
4. In paragraph III, the sentence “…the cost of communicating is likely to continue…” expresses

A) an exemplification.

B) a probability.

C) a certainty.

D) a reason.

5. According to paragraph III, 

A) multimedia communication is becoming the main infrastructure issue. 

B) multimedia communication has few chances of becoming the main infrastructure issue.
C) physical communication will beat multimedia communication.
D) Atlanta has become the best place to visit in the world.
6. In paragraph IV, it is true that telephony

A) is too sophisticated.
B) helps to downsize staff in companies worldwide.
C) can produce a negative effect on consumers. 

D) can only produce a positive reaction in consumers.
Listening comprehension (An interview with Susan Gates, Director of Human Resources at Robertson’s, a national chain of supermarkets)

1. How many jobs that come onto the market do not require a specific degree?

A. 15%

B. 55%

C. 50%

2. Susan Gates thinks that the committee should include Robertson’s because

A. half of all graduates find jobs in retailing

B. the views of non-specialist employers need to be represented

C. it had more experience of employing graduates than IT companies

3. What does Susan Gates say about numeracy?

A. top organisations organise many training courses

B. most graduates are not confident with mathematics

C. top employees work with numbers at a sophisticated level

4. What is Susan Gates’ opinion of the research work carried out in higher education?

A. it ought to benefit the economy more

B. it is a direct result of links with business

C. it has made British companies more competitive

5. Susan Gates thinks that small businesses

A. do not want graduates

B. cannot attract as many graduates as large organisations

C. need graduates with specialist skills

6. What should business leaders invest in higher education?

A. time

B. staff

C. money

Managing a small business 


I. ‘The organisational weaknesses that entrepreneurs have to deal with every day would cause the managers of a mature company to panic,’ Andrew Bidden wrote recently in Boston Business Review. This seems to suggest that the leaders of entrepreneurial or small businesses must be unlike other managers or the problems faced by such leaders must be different. Unfortunately, neither is true. 

II. Little has been done to examine the aspects of entrepreneurial or small businesses that are so difficult to deal with and so different from the challenges faced by management in big business. In part this is because those involved in collecting information about business and in selling advice to businesses have historically been more interested in the needs of big business. 

III. The organisational problems of entrepreneurial or small businesses therefore have to be solved by the individuals who lead them. Even more so than for bigger businesses, the old saying is true - that people, particularly those who make the important decisions, are a business’s most important feature. The research that exists shows that neither money nor the ability to have more of it is the major factor determining economic 1.__________. The main reason an entrepreneurial business stops expanding is the lack of management and leadership resource available to the business when it matters. Give an entrepreneur an experienced, skilled 2._________and he or she will find the funds every time. Getting one, though, is the difficult part.

IV. Part of the problem for entrepreneurs is the speed of change that affects their businesses. They have to deal with continuous change yet have always been suspicious about the latest ‘management solution’. They regard the many offerings from business schools as 'out of date' even before they leave the planning board and have little trust in the advice of 3.___________ when they are young inexperienced graduates. But such impatience with ‘management solutions’ does not mean that problems can be left to solve themselves. However, the leaders of growing businesses are still left with the problem of who to turn to for advice.

V. The answer is horribly simple: leaders of small businesses can ask each other. The collective knowledge of a group of leaders can be enormously helpful in solving the specific problems of individuals. One leader’s problems have certainly been solved already by someone else. There is an organisation called KITE which enables those responsible for small businesses to meet. Its members, all of whom are chief executives, are carefully selected and then join a small group of other chief executives. They come from a range of business 4._______ and each offers a different corporate history. Each group is led by a ‘moderator’, an independently selected businessman or woman who has been specially trained to head the group. Each member takes it in turn to organise a meeting at his or her business premises and, most important of all, group discussions are kept strictly confidential. This encourages a free sharing of problems and increases the possibility of solutions being discovered.

1. Choose the best word from the 4 options for each gap in the text by inserting the corresponding letter in the boxes on the Answer Sheet:

1. 
A. increase
B. worth

C. growth
D. intake

2.
A. employer
B. team

C. graduate
D. recruit
3.
A. consultants
B. experts
C. recruiters
D. employers

4. 
A. shares
B. sections
C. sectors
D. series

2. Choose the correct option to each question by inserting the corresponding letter in the boxes on the Answer Sheet:

1. What does the writer say about entrepreneurs in paragraph I?

A. It is wrong to assume that they are different from managers of big businesses.

B. The problems they have to deal with are specific to small businesses.

C. They find it difficult to attract staff with sufficient expertise.

D. They could learn from the organisational skills of managers of large companies.

2.According to paragraph II, why is there little support for entrepreneurs?

A. Entrepreneurs have always preferred to act independently.

B. The needs of big businesses have always had priority.

C. It is difficult to find solutions to the problems faced by entrepreneurs.

D. Entrepreneurs are reluctant to provide information about their businesses.
3. According to paragraph III it is true that 







A. many small businesses do not produce enough profits to finance growth.

B. many employees in small businesses don't work as part of a team.

C. being able to get the right staff is the most important factor affecting growth.

D. many leaders of small businesses do not have the right qualifications.

4. In paragraph III, the connective in “The organisational problems of entrepreneurial or small businesses therefore have to be solved…” can be substituted by:

A. furthermore.

B. despite.

C. however.

D. consequently.

5. In paragraph IV,  ‘The answer is horribly simple: leaders of small businesses can ask each other’ indicates

A. a certainty.

B. an obligation.

C. a possibility.

D. a prediction.

6.The main idea of the text is that:

A. capital is the key factor in managing a small business successfully.

B. entrepreneurs refer to business schools for innovative ideas.

C. market dynamism is the major problem for entrepreneurs.

D. entrepreneurs tend to act independently and rarely consult each other.

Listening comprehension

(You will hear the Purchasing Manager of a manufacturing company giving a presentation to senior management about four possible new suppliers).

1. The main supplier informed the Purchasing Manager about its decision to close down

A) last week

B) last Monday

C) last month

2. The advantage of the first company is.

A) its capacity to produce sufficient quantities.

B) the size of the factory.

C) the commercial expertise of the Managing Director.
3. The second company has problems because

A) passenger flights are not frequent enough and take too long.

B) the road networks are underdeveloped.

C) the seaport is too far away.

4. The components manufactured by the third factory

A) are not accompanied by any kind of guarantee.

B) do not match product specifications.

C) do not reach the required quality standard.

5. The final company is

A) twenty years old.
B) ten years old.

C) thirty year old.

6. The speaker recommends the final company because

A) it can produce goods within the required deadlines.

B) it has agreed to reduce its prices for large orders.

C) its products passed an inspection test.
The IT industry


I. In the information technology industry it is widely acknowledged that how well IT departments of the future can fulfil their business goals will depend not on the regular updating of technology, which is essential, but on their ability to hold on to employees who are skilled at manipulating the newest technology. However, this is becoming more and more difficult. In fact, estimates of the current shortage in IT staff, in the UK, are between 30,000 and 50,000, and there is no end to the problem in sight. A severe lack of investment in training means that the long-term skills base is ageing as well as becoming smaller. 

II. Most employers are limiting themselves to dealing with the immediate problems. There is little evidence, for example, that they are employing inexperienced (and thus cheaper) recruits for in-house training, or retraining existing staff from other functions, which is the 1.___________ recommended by the Computer Software Services Association. On the contrary, research shows its members are adopting the short-term measure of bringing in more and more consultants on a contract basis. However, this approach is becoming less acceptable, as the general shortage of skills, coupled with high demand, is significantly increasing expenses for external consultants. An experienced contract programmer, for example, can now earn at least double the current salary of a full-time employee.

III. IT professionals are increasingly attracted to the financial rewards and flexibility of consultancy work. While many companies in the financial services sector are managing to contain their 2._________, other organisations, like local governments, are unable to match the competitive salaries and perks on offer in the private sector and contractor market. 

IV. Thus these organisations need to find ways to hold on to staff. Some companies pay market premiums. But such measures can create serious employee relations problems among those excluded, both within and outside IT departments. Many industry experts believe that employers should link bonuses to performance wherever possible. However, employers are realising that bonuses will only succeed if they are accompanied by other 3._________ such as attractive salary  prospects, training, and challenging work that meets the individual’s long-term ambitions. This means managers need to allocate assignments more strategically and think about advancing their staff as well as their business. Some employers have begun to organise in-house training programmes in order to give key employees projects that would usually be given to external contractors. 

V. For many employers, however, the urgency of the problem demands a more immediate solution, such as recruiting skilled workers from overseas. But even this is not easy, with strict 4._________ on the number of work permits issued. Moreover, opposition to the recruitment of IT professionals from other countries is growing, as many professionals believe it will lead to even less investment in training and thus to a long-term weakening of the UK skills base.

Vocabulary

Choose the best word from the 4 options for each gap in the text by filling in the corresponding letter in the boxes on the Answer Sheet

1.
A. politics
B. strategy 
C. design
D. affair

2. 
A. losses
B. profits
C. decreases
D. investments
3.
A. overheads
B. dividends
C. attractions
D. incentives
4. 
A. tariffs
B. quotas
C. shares
D. taxes

Reading comprehension

For each question, choose the correct option by inserting the corresponding letters in the boxes on the Answer Sheet. There is only one correct option.

1. According to paragraph I, the success of IT departments will depend on

A. the extent to which they invest in new technology

B. the willingness of IT staff to take training courses

C. their ability to keep their skilled staff

D. their attempts to recruit younger staff 

2. What long-term solution is suggested in paragraph II?




A. ensure that permanent staff earn the same as contract staff

B. provide company training programmes for new and old employees

C. conduct more research into the reasons for staff leaving

D. offer high bonuses to attract the best specialist consultants

3. According to paragraph III,

A. many organisations cannot afford the market rates of consultants

B. IT professionals want higher salaries

C. consultants are  more attracted to work flexibility rather than high salaries

D. the financial sector is suffering losses due to professionals’ high salaries

4. In paragraph IV, the sentence “employers should link bonuses to performance”… expresses

A. a suggestion

B. a promise

C. a permission

D. an obligation

5. In paragraph V, the sentence  “Moreover, opposition to the recruitment of IT professionals from abroad is growing,..”

A. signals a contrast to what was said in the previous sentence

B. introduces an example to illustrate what was said in the previous sentence

C. repeats what was said in the previous sentence

D. adds information to reinforce what was said in the previous sentence

6. The main idea of the text is:

A. the IT industry is lacking investment.

B. the IT industry and consultancy work.

C. The IT industry in the UK.

D. The IT industry and the private sector.

Listening comprehension (You will hear an interview with the Managing Director of a restaurant chain.)

1. What is the restaurant’s turnover?

A. £20.000

B. £20.000.000

C. £200.000

2. What does Olivia say about her studies at university?

A. She ignored her parents’ advice

B. She chose the subject she was best at in school.

C. She got better results than she expected.

3. Olivia and her brother sold their soft drinks company because

A. it was uninteresting.

B. they were offered jobs overseas.

C. they wanted to have a long vacation.
4. What does Olivia say about her working relationship with her brother?

A. They both work long hours.

B. She can depend on him.

C. When he gets angry, he leaves.

5. Olivia works

A. only during the day.

B. also on weekends.

C. sometimes until 4.30 in the morning.

6. Olivia says that people entering her field of business have to

A. have a university degree.

B. have already experience in the field.

C. be willing to start at the bottom and learn fast.
BRITISH COMPANIES CROSS THE ATLANTIC
I. Next month a large group of British business people are going to America on a venture which may generate export earnings for their companies’ shareholders in years to come. A long list of sponsors will support the initiative, which will involve a £3 million media campaign and two weeks of events and exhibitions. The ultimate goal is to persuade more Americans that British companies have something to interest them.

II. While there have been plenty of 1._____________ initiatives in the past, the difference this time is that considerable thinking and planning has taken place in trying to understand what exactly Americans look for in British products. Instead of exclusively promoting the major companies, this time there is more emphasis on supporting the smaller, more luxurious businesses. 

III. Many remember that America has represented the end of business for many large and apparently successful companies. For Carringtons, a retail group much respected by European customers and investors,  America turned out to be a commercial disaster in spite of their initial optimism. Polly Brown, another British brand that was highly profitable for years, also found that conquering America, in commercial and retailing terms, was not as easy as it had imagined. When it positioned itself in the US as a 2.__________ brand, selling shirts priced $40 in the UK for $125 in the States, the strategy seemed to work. But once its management decided it should conquer the middle market, this success rapidly vanished. It was a disastrous mistake and the high cost of the failed American expansion plans played a large role in its declining fortunes in the mid-nineties. 

IV. Sarah Scott, managing 3._______ of Smythson, the upmarket stationer, has had to think long and hard about what is necessary to succeed in America and she takes it very seriously indeed. ‘Many British firms are quite arrogant about the US,’ she says. ‘They think that we are so much more sophisticated than the Americans. They obviously have not noticed Ralph Lauren, an American who has been much more skilled at making use of an idealised English style than any English company. Also, many companies do not waste time studying the market properly and think that because something is successful in the UK, it will automatically be successful over there. You have to look at what you can bring them that they have not already got. In general, American companies are brilliant at the low, middle market and people who  have tried to compete at this level have found it very difficult.’ 

V. This time the changes in the taste of 4. _____ might be in Britain’s favour. The enthusiasm for massive, centralised retail chains has decreased. People want things with some sort of individuality; they are tired of the banal, middle-of-the-road taste so typical of America. They are now looking for the small, the precious, the ‘real thing’, and this is precisely what many of the British companies participating in this initiative are best at doing. 

Vocabulary: Choose the best word from the 4 options for each gap in the text by inserting the corresponding letter on the answer sheet.

1. 
A. barter
B. trade

C. exchange
D. buying
2. 
A. mass

B. niche

C. similar
D. common
3. 
A. director
B. chief

C. executive
D. employer

4. 
A. owners
B. men

C. leaders
D. consumers
Reading comprehension: 
Choose the correct option to each question by inserting the corresponding letters on the answer sheet.
1. The main idea of the text is that
A) Americans are still enthusiastic of centralised retail chains.

B) middle market British companies have met the American taste over the years.
C) small British companies might now meet the American taste.
D) British companies have always been competitive at the low market.  
2. In paragraph I, the main reason why British business people are going to America is to

A) encourage American consumers to buy their products

B) analyse how American companies attract media coverage

C) look for financial support from American investors and banks

D) investigate how British and American companies could form partnerships

3. According to paragraph II,  it is true that the proposed venture will be different from previous ones because

A) fewer British business leaders will be travelling to America

B) less well-known companies will be better represented 
C) only the larger companies have decided to participate 

D) it will involve little research into how British companies market themselves

4. In paragraph III, Carringtons’ initial optimism 

A) caused commercial disaster

B) prevented commercial disaster

C) seemed to promise success

D) guaranteed success

5. In paragraph IV, the sentence ‘…because something is successful in the UK, it will automatically be successful over there’ indicates

A) a prediction
B) an obligation
C) an offer
D) a possibility 
6. In paragraph V, the writer suggests that success in America depends upon

A) adopting a more American approach to marketing

B) persuading the mid-range consumer that retail chains are still the best

C) copying the strategies of American companies

D) building a reputation as a supplier of unique goods

Listening comprehension 
(You will hear Sophie Garland and James Pinot discussing problems at the Nottingham Centre)

1. According to Sophie the Nottingham Centre is having problems  

A) for unknown reasons
B) for staff reasons 

C) for reasons she thinks will not continue for long

2. James says that in the European division similar problems were ended by

A) selling some centres

B) launching an advertising campaign
C) investing in extra staff

3. Sophie says that the Nottingham Centre has lost nearly a million pounds 

A) in these six months
B) in the last months

C) in the last year 
4. James suggests that a solution could be to

A) reduce opening hours

B) employ more staff on lower wages

C) cut promotional offers

5. Sophie says that the Board wants to sell the Nottingham Centre because

A) the shareholders have taken the decision

B)  a huge profit would be made

C) capital is needed to cover the losses

6. Sophie agrees to propose to the Board that 

A) the Centre should be closed

B) more money should be invested

C) the Centre should be allowed to make savings. 
Listening comprehension

(you will hear the chairman of a business institute making a speech about new business awards)

1. What did the ‘Business Today Innovations Awards’ project want to reward? 
A. good product design

B. good management of the development process

C. rapid financial success

2. How many companies did the judges finally evaluate?

A. over 350

B. about 40

C. 14

3. The speaker believes that large firms achieve good development methods because of

A. the number of staff available

B. the involvement of senior management

C. accurate and continuous documentation procedures 

4. ‘Natura’ has produced their range of speciality breads in order to

A. exploit new production technologies.

B. produce in different countries.

C. reach positive results and high quantity production.

5. The judges appreciated the links between development teams in small firms and 

A. the individual entrepreneur

B. suppliers

C. the market
6. Suppliers sometimes had problems because

A. some manufacturing companies were not efficient.

B. they could not reach the targets set.

C. there were fluctuations in quantity.

Listening comprehension

(You will hear a radio report about the London stock market)
1. Shares reached their highest level

A) yesterday

B) three days ago

C) two days ago
2. Brownlow, the clothing retailer, has

A) been taken over 

B) sold its sports footwear subsidiary

C) bought a foreign company

3. Financial experts advise investors with shares in electricity and gas to

A) delay any decision about selling 

B) sell them immediately

C) persuade other investors to sell

4. What is said about the pharmaceuticals sector?

A) it is behaving similarly to other sectors

B) its value has dropped

C) it is the strongest performing sector

5. Which type of business is continuing to experience difficulties?

A) supermarket retailers

B) construction firms

C) leisure companies
6. Freeways, the internet café chain, has

A) paid its shareholders large dividends

B) announced a loss 

C) decreased its investment in research.
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Woman: Good morning, Richard. Now, in 1994
you were a computer science graduate with a
good job working for an investment company
7~ and then you started Bookstore. Why?

Man: Well, I was thirty and seriled at work, but
then 1 came across a report predicting annual
internet growth at 2,300%. The figure was like
an alarm clock ringing in my head. I started t0

chink about the regrets I might have at eighty. |

realised 1 probably wouldn't even remember the

things that secmed important in my thirties (ke

getting my end-of-year pay bonus. But I'd

definitely tell myself I'd been a fool to ignore

the internet.

Woman: How did you go about choosing
product?

Man: Well, I drew up a list of twenty products,
from clothes to gardening tools, and from that 1
got a shortlist of five, and then I assessed them.

1 thought about market growth in different
countries and | also did some research into
suppliers. But there were otfier important
frctore as well, { wanted a product that didn’t
retail for too high a figure. I thought that since
many people would be buying from the intcrnet

. fot the first time, they might be afraid to take a
risk with large amounts of money.

Woman: And what made you decide on books?

Man: Well, basically, I found out that books had
an eighty-two billion dollar market world-wide.
There’s also a high demand for CDs ~2 product
 nearly went for — but with books there’s @
much wider choice. There’re 3 million items in
the. book category, but only 300,000 in. CDs.
This choice meant the capabilities of the
computer — in organisation and selection —
could be put to good use.

Woman: Bookstore has certainly been very
successful. Why do you think that is?

Man: Well, it's not been easy. For the first five
years, it was a struggle raising funds and
Yeveloping the right software. The ideas weren't
the difficult bit. If you and I sat down here for
an hour, we'd come up with a hundred good
ideas. The hard bit is making those ideas work.
There are several key elements, which for me
were research, recruiting the right staff, and
prioritising.

Wtnan: And yowre satisfied with your customer
growth?

Man: Well, it was a bit slow at first but then it
picked up and from May 97 we started to se¢
our greatest. vth,. We went from a hundred
and twenty million dollars annual sales revenue

Man: Well, at the moment we’re focusing on
introducing ourselves to customers and we
spend 2 lot on advertising, Anything elsc would
be a poor management decision. But, of course,
it's reflected in our final figures. It’s not unusual
for a four-year-old company fike ours to be in
an investment cycle. What is more unusual is for
a young company like Bookstore to be sold on
the stock market, which happened in July *97.

Woman: Bookstore is well-known for its high-
quality customer service. What is the secret of
your success in this area?

Man: Well, firstly our M% and
anwﬂm&uﬁd& ith by.emai
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answered in a friendly way, with the i
ofihe customer is always right’. In fact,
customers sometimes feel guilty about
complaining because Bookstore staff are so
helpfult Regular customers are recogpised when
they go to our website, and we suggest titles to
thern, based on their previous purchases.

Worman: Do you think Bookstore offers a better
service than its competitors?
Man: Well, yes. We’d been in the market for about
two years before most of our competitors
started so we had a head start and although
some have caught up now, we're still cheaper.
Our book price includes tax and delivery. Most
of our competitors’ prices don’t. But what’s
more important is that Bookstore has a talented,
hard-working staff. As an incentive, everyone’s
offered shates in the company and this helps to
create a sense of ownership. We provide a better
service because of that.
Woman: Thank you, Richard. It was very
interesting to talk to you . ..

2o two hundred and thirty million dollars by the
end of that year, and from 340,000 customers to

5 million, 58% of them were repeat customers
By 98, sales had reached almost three hundred

and ten million dollars.
‘Woman: And is Bookstore’s success reflected in its

profits?
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